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COMMERCE

(Honours Core)

Paper : COM-HC-5026

(Fundamentals of Financial Management )
Full Marks : 70

Time : Three hours

The figures in the margin indicate
full marks for the questions.

Answer either in English or in Assamese.

1. Choose the right answer : 1x10=10
w7 Teas! iR el ¢
(i) Market capitalisation is a measure of—
TG AL FCRS GEINT #ifFist S e
(a) wealth created by equity
333D AFS [N TN

(b) share price indicator of the equity
SOOI SRH2[EF & 7ok
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(@)

(iii)
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() market price indicator of the
securities

e oefoT T@F T oo
(d) cost of equity as compared to
market price of the equity

iﬁﬁawwwiﬁﬁa

Cost of preference share is
wellfEpI ST

(a) treated for tax
ST g
(b) not treated for tax
(c) only occasionally treated for tax

(d) None of the above
G2 «bie Ty

Internal rate of return is the discount
rate of which—

o malqu?i’ﬁ@?ﬁ?w——
(@) NPV > 0
(b) NPV < 0

(¢ NPV =0
(d) None of the above
€9[FF i€ 2h

(iv) Current assets are twice the current

liabilities. If working capital is
Rs. 20,000, current assets would be
Bfere 7If€ bete (eid waed 27 | I FRE
IEEE 20,000 B 2, (9% bere AT
ISR |

A\ (@) Rs. 10,000 (>o,000 Gl)
2/(b) Rs. 40,000 (80,000 TF)

(c) Rs. 80,000 (¥o0,000 G)
(d) Rs. 20,000 (k0,000 Bl)

(v) Profit maximisation ignores

e FREae @Y AT "

(a) wealth
v
(b) time value of money
IS IR AT
(c) net value
TS T
(d) None of the above
@5T IS T2
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(v) The net working capital is the excess

of current assets over current liabilities. | () When the company pays dividend in
e PR T 5 5w et ; t tk.le. forréll of bond,. it 1s called property
5ot s s | , - dividend.

y NG ST IS Foie srepies e, cofea
(@ True (3io) _ O TG TYIRH (1T |
(b) False (fm) : : (a) True (3B) |

(b) False (f@)

(vii) In respect of raising finance from new

issue market, companies are prohibited (x) The profitability index or benefit cost
from 1§su1ng shares at a discount l ratio is the relation between the present
except in the case of issue of sweat : value of future net cash flow and the

equity shares.

A P R S, 25 252 e AR,

Copp~ o initial cash outlay.

ﬁ

\ctﬁm A1 T3] 2FS ol 4 2RI Wk RS

Q
S (I @A @22 3o 2k R S Rl =R 29 @S o o
GRIE | | T AIMR) T IS A TS (ﬁmmw
) : 4
(@ True (i) l*\ Chmn /(@) True ()
(b) False (fim) : (b) False (=)

(vii) When profitability index exceeds one, | 2. Answer the following questions in about
the proposal is rejected. 50 words each : 2x5=10
cafsm profitability index < \@si<s = [FCRIe exTeRs dfomR Sl 505! A *9F fois
COfoaT efp ezl <59t 2| forat ¢

(a) State the objectives of wealth
maximisation.

TN SEFOTTIIT S Sz T |

(@ True (35Y)
(b) False (fig)
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(b) State the meaning of EPS.
EPS-J 919 Gz 341 |

(c) State the meaning of Internal Rate of

Return.

SIS O gRE oy g
(d) What is stock dividend ?

B SO fFy

(e) What is cash management ?

Jom =ifpieE &

Answer the following questions within
150-200 words each - (any four) 5x4=20

Fiee emPhEs oot Gue = *
Sl 9 i 150-2005 =

(@) peﬁne opportunity cost of capital. How
1S 1t computed ?
Opportunity cost of capital % e 7l |
et a1 =3 :

(b) Distinguish between f"lnanciailevérag6
and operating leverage.

g?n?f TSI S S Froies o
| .

(¢) State the limitations of financial
-Mmanagement,

%@aﬂﬁsm%mmqg@cmw|
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(d) Discuss the use of internal rate of
return (IRR).

SN SRS 2 T2 I 4 |

(e) State the circumstances which
warrants issue of bonus shares.

o o <R @mE wIieig & 9 o
23 e 1| |

(/) Examine the importance of accounts
receivables management.

elisl] 2615l ARGIERIR @9 i 5 |

Answer any three of the following questions

-in about 600 words each : 10x3=30

o Rl ol 2N ArSSE 2 6006 N

g fowge 71l ¢ {

(a) Discuss the scope and objectives of
financial management.

e 2REIEFIN SR = SrweEiE
<4l | . A
(b) Discuss modern methods of capital
budgeting. ;
G ACSEFIAT SYAAT “mfor@s Scss=l
341
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The estimated revenue before
depreciation and taxes from the
investment are as follows : !

(¢ Define working capital.. What
considerations are taken into account
in estimating the amount of working

capital requirements in a newly started jLi L MER  Expected Revenue
company ? 2+8=10 = <od&Copn - (before depreciation and Tax)
ST TeTeR A 731 | T oA oo [/ ) ' (Re.
TR L el e &/ Rwa (S ‘ "‘;';‘] 1 2,00,000
W%‘ @ 9 , \,"'%‘!‘-\’_h-' [ /‘-;‘: 2 | 2’20,000
- L NG 3 2,50,000
(d) Elaborate the determinants of capital 2.601000
structure of a corporate entity and the 4 220
benefits of a balanced capital structure. 5 3,00,000
: 6+4=10 : -
s o 5 = If tax rate is 30% p.a. and the company
S AoV GBI T SO Al uses straight line method for
RERIGIRISET el G R SRAEE e depreciation— '
QICes CURIES) [GRIN ‘ (i) determine the cash flows after
(e) Elaborate Modigliani and Miller i\ ! taxcs b.Ut before depreciation ;
hypothesis of dividend decisions. (i) calculate the Net Present Value
Examine its validity. (NPV) of the investment at 10%
ST 936t e crae Modigliani 917 . discount rate ;
o
Miller S «i=elq Rtz wiitaiisa <5 | 29 B (iii) comment whether to proposal
AReIATS s w51 | should be accepted or not.

ABC Ltd. is considering an investment
proposal to install a new industrial
mixer at a cost of Rs. 10,00,000. The

facility has a life expectancy of S years
and has no salvage value.
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[The present value of Re. 1 at 10%
discount rate (PVIF) for S years are
respectively 0909, 0-826, 0-751, 0-683
and 0:621] ' 4+5+1=10
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ABC FIf5ce 10,00,000 56t Gea0H <61 wow (iii) SBRCO! &I 2F (F 927 ©FF 87O

- Somi R e <sRece @Bt Rl dwike T S | ;
Reet R iR @2 FRAGE 5 w2wg @i [10 *eie 1T TS 5 T A 1 5 TO
AT GRAIE BICZ, I 29 @I Sieere e @0 0:909, 0:826, 0-751, 0-683 S
e <12 | 1 0:621]
.mWW@T%WWT
- [l q599 8 ' |

A gl o |
(T WIE F9 o7S)
(Rs.)

,,CH 5
] m\ 2,00,000

S LR L )
f\bq// =8 e :‘:'.:'\‘
I & 7 A2\ 2,20,000

2 (3 « . -
¢ N 5 a0 /I
- SR 300,000 '

T 9 29 T={ 30 O W GG
SRS I FEAERT 2GS e FE—

() TS S 5w 599 P aem darz
Tfereq ;

() 10 *IoRk* AT 2© [FEEHIGE e
TG [T ATl T

. ' | 00
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